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Math 2022

/

021 - 2022 ple Sib

1- Determine the elementary row 2 Pl @3 (I AoVl Call Oldas 3d> - 1
operations performed to obtain the § dg0.a0ll Je Jgual)
matrices . 15 6,3 15 6,3

01 3 ;-2 — o1 -3;-2
@ Ri+ Ry 0 -12 11 00 -1i-1
® Rit R;
© R;+ R;
@ Rit R;

2- Determine the elementary row e pldl (3 (W1 A9 Canall Oildes du> - 2
operations performed to obtain the § ddgasanll e Jgraxl
matrix. 31 54 3 -5 54

9 -1 3 ;-2f — |9 -1 3 ;-2
@ 2R+ R, 8 4 311 2 2 717
® 2R, + R;
© 2R,- R;
@ 2R- R,

D Mohamed Taha 0566151988 < Grade 12 General >
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Tearm 2

3- Determine the elementary row e Pl o3 (1 A9 Casall Oildes du> - 3
operations performed to obtain the § dsasadll e Jguazll
1
0 8 5 15 |—>| 0 8 5,15
1
|
@ 3R+ R, 2 10120 2 1 QN 20
I A 0 345 138
® 3R;+ R;
© 3R,+ R,
@ 3R.- R,

4- Determine the elementary row e pldl 3 (I A9V Caall Oildes du> - 4
operations performed to obtain the € ddgasanll e Jgaazl
matrix.

8 20 12 1 -2 8 20 2 12
|
- —>|0 7 -7 1111
8 5 -7 6 : 9 | :
@ Rit+ Ry 109 3 !'2 1.0 9 3
@ _R1 + R3
© Ri—R;

d —Rit R

D Mohamed Taha 0566151988 < Grade 12 General >
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5- Find the product of A. B if possible

3 -7
(24 7 A=[8 1]B=
® 5 2
k'40 16
-
@ 19
-84
.
© [ 19 -54 ]
@ OSee pé
Undefined or does not exist
6- Find the product of A. B if possible
2 9 6 -4
12 19 A= B=
@ 7 3 0 3
-42 37
@ 12 -42
19 37
@ 40 42
21 9
@ 40 -21
42 9

OSel Ol AL B Gpdll Jol>u> - 6

3 > Mohamed Taha 0566151988
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7- Find the product of A. B if possible

@ [7 15 -16] A=[3 5 ]3: * 03
1 -

7
® 15

-16

120 -6
©

-5 15 -10

@ Undefined or does not exist

8- Find the product of A. B if possible

24 30

@ 4 5

-40 -50
36 45

®) 15

-16

@ 24 4 -40 36
30 5 -50 45
SSan A

@ Undefined or does not exist

OSel Ol AL B Gl Jol>ux - 7
-2

2

OSel Ol AL B Gpdll ol ux> - 8

D Mohamed Taha 0566151988
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Tearm 2

9- Find the product of A. B if possible OSel O] AL B Qpdll ol v - 9
2 6 0 -1
A= 5 B=
@ (Son 6 -4 9 8
Undefined or does not exist
8

\
@ 12 0 -2
\-20 45 40 )
\
@ 12 0 -2
| -8 45 48
10- Determine whether A and B are inverse B d3324a0llg A d8544a0ll OE'13] 24> - 10
matrices OwSlatio il glsae
OluSlaieB,A Oldgasmall AB =1 Of L 3 7
Since A.B = | the two matrices B,A are inverse A= 12 -7 B =
OLuSlaioB,A Olidgisaell A.B =B.A= | Of Ly -5 3 5 12

Since A.B =B.A= | the two matrices B,A are inverse

OliwSaieB,A Oldgiuaoll AB = | Jadd Of Lo
Since only A.B = | matrices B,A are inverse

OlwSlaio p2B,A OUdgaanll A.B =1 Of Loy
Since A.B = | matrices B,A are not inverse

® @ ©® ®

D Mohamed Taha 0566151988 < Grade 12 General >
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11- Determine whether A and B are inverse B ddgaa0llg A 49ga4anll 0K 13 DU - 11
matrices S aie (8 giunn
OluSaioB,A Oldgsacll AB =1 Of s 43

@ Since A.B = | the two matrices B,A are inverse A= -5 3 B =
OluSaioB,A Oldgiuacll A.B =B.A= | of Lo 6 -4 6 5
@ Since A.B =B.A= | the two matrices B,A are inverse
OluwSaioB,A Oldsiuacll A.B = | faid Of L
@ Since only A.B = | matrices B,A are inverse
OliwSlazie A6B,A Oldsiacll AB#1,AB %1 Ol
@ Since A.B #1, A.B # | matrices B,A are not inverse
12- Find A1 -4 2 Sz O AL dzel- 12
A = _6 3

@ B3y ddg2uan (B A
A is a singular matrix

L[4 2
® A" [-6 3]
12 s 1/12]
© A [_1/12 -1/

[ Ye /12 ]
@ 4 [1/4 1y

D Mohamed Taha 0566151988 < Grade 12 General >
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13- Find A1

@

14

f

Find A1

Byiin ddgaan (& A

A is a singular matrix

r
-3

(2 3

(
- -5
3/9 /12
3
\2/19 /19

B3 yaio ddg2uan (D A
A is a singular matrix

(

7 > Mohamed Taha

g O A1 uxgl - 13

%19 */19
5/12_ 3/19

Odz9 0] ATl uzgl- 14

0566151988

Grade 12 General >




Math 2022

Tearm 2

B

15- Find the determinant of the matrix. [

6 -5

Then find its inverse, if any 3 22

] 49 Of W sSas U gl o3 . A3 gisanll Suzxe U9l - 15

Baydie 48 giuacll

a singular matrix

r_2/3 5/3 ]

-1
L 2

r N
—2/3 —5/3
.1 2 )

f3 2 N
/19 “/19
L1 _2/3 J

® © © ®

16- Find the determinant of the matrix. 479 O] LguugSina dzgl o5 . ddghiacll e sl - 16
Then find its inverse, if any 12 -9
4 3 ]
@ 8.5).5&6 39_9-%46-" ‘0

a singular matrix

® [_1/6 _1/8] £ 72

1 1
/18 /24
r )

1

© Voo s |72
\1/18 1/6 /
(1 N

@ f2a Vs .5y
\_1/18 1/6 J

D Mohamed Taha 0566151988 < Grade 12 General >
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17- Find the determinant of the matrix. dzrg Of guogSae dmgl o5 . Aghuaall Susme dl - 17
Then find its inverse, if any 3 1 -2
8 -5 2
@ Y-SV R-L PPN ‘0 4 3 -1

a singular matrix

1/11 0 _4/11

5 ¢ -
@ /11 1 11/13 11

8 -

/11 2 23/11

i1 %y ¥

© 0 1 2 1¢-11

1113/, 23/

i1 %y ¥

@ 0 -1 2 |*-11
Y By B

9 > Mohamed Taha 0566151988 < Grade 12 General >
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18- Find the determinant of the matrix. S22 O] lgwgSan uzgl 03 . 3gaianll uzms uzgl - 18
Then find its inverse, if any 9 3 7
-6 -2 -5
B3y 4 924l ‘0 3 1 4

a singular matrix

_ 1
%106 Y106 "/31s
1 1 .
© /159 /159 13/4p |¢-31

1 -1
/106 /319t %/159

-9
/106 1/53 1/106
@ 1/106 1/159 13/11 £-31

7 -1
/318 /318 /159

7
%106 Y106 /318

@ 1/53 _1/159 13/11 ¢-31

1 _ —2
/105 ~Y318 /159

10 ) Mohamed Taha 0566151988 ( Grade 12 General >
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Tearm 2

19- Find the values of n such that the system
represented by the given augmented matrix
cannot be solved using the inverse matrix.

20- Find the values of n such that the system
represented by the given augmented matrix
cannot be solved using the inverse matrix.

V6

PEREILDY

There are no values

® @ & ®

Mohamed Taha 0566151988

Aot g1 Al Ja (S ¥ Euaan af agl - 19
Al 48 ghaaal) aladiud; SUanal) dau gall 4 ghuaal)

Ao i oM alail) Ja Sy ¥ Cuaa . add aagl - 20
Aosal) 48 ghuaall aladinly sUanall da gall 48 giuaall
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Tearm 2

21- Find the values of n such that the system el o) pa) Ja (S Y Cumy . p dagl - 21
represented by the given augmented matrix Aguial) 4 ghiaal) pladidy SUaral) das gall 43 ghiaall

cannot be solved using the inverse matrix.

®

22- Find the values of n such that the system el ) pBI s S Y Cua . i dagl - 22

represented by the given augmented matrix Amsal) 4 shiaal) aladiuly Slaal) A sall 43 ghiaal)

cannot be solved using the inverse matrix.

@ 0 n -n ;0
7 n -8

® -7

@ 0,-7

@ PVLINELR

There are no values

B Mohamed Taha 0566151988 < Grade 12 General >



23- Triangle JKL has vertices (-,), K(1,3),and L(0,-2). 9 K(1,3) 9J(-2,5) pu98y' JKL cdiadd -23
Use the scalar multiplication to find the coordinates of Slmy $ okl Qpall pusiwlL(0 ,-2) .

the triangle with the dilation of scale factord 1.5 1. 5.2 2l Jale & Sl Olla=]

®  1/(0,-3),K'(1,4.5),J'(~2,7.5)
® 1'(0,-2),K'(1.5,3),]J(-3,5)

© 1'(0,-3),K'(1.5,4.5),]'(-2,7.5)
@ 1'(0,2),K'(1,3),J'(-3,5)

24- The square ABCD has vertices A(-1,3), B(3,3), 9A(-1,3) yw95)) ABCD gosll - 24
(,-1) and D(-1,-1). Find the coordinates of the square gl D(-1,-1).5C(3 ,-1) sB(3,3)
after a translation of (1) unit left and (2) units down g d>[HYL byl das a0 pedl OS>

Sl ] 0BA>g99 sl ] Bulg
@  a4(=2,3),B(23),C(2,-1),D'(-2,—1)
® a(-1,1)B31),¢ 3 -3),D'(-1,-3)
©  a(-2.1),B@21),C(2-3),D (-2 -3)
@ 4'@1,-2),B'(1,2),C(-3,2),D'(-3,-2)

13 Mohamed Taha 0566151988 Grade 12 General
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25- Square ABCD has vertices (-1,2), (-4 ,1), (-3 ,-2) and 9(-1,2) w95y ABCD gyl - 25
(0 ,-1). Find the image of the square after reflection over 8ygs0 9l (0,-1).9(-3,-2) 9(—4,1)
the Y- axis Y95l g (wSasVL aupall

@ (1,2),(4,1),(3,-2),(0,—-1)

@ (_1! _2), (_4! _1)r (_3; 2); (0; 1)
@ (11 _2)) (4; _1); (_3; 2); (0; 1)
@

(-1,2),(—4,1),(3,-2),(0—,1)

26- Square ABCD has vertices (-1,2), (-4 ,1), (-3 ,-2) and (9 (-1,2) w955 ABCD gyl - 26
(0, -1). Find the image of the square after reflection over 8ygee 9l (0,-1) .9 (-3 ,-2) v4,1)
the X- axis Xo95xadl Jg= wSaiYL Aoyl

@ (1,2),4,1),(3,-2),(0,—1)

@ (_11 _Z)r (_4'1 _1)r (_3; 2); (0; 1)

© (1,-2), (4,-1),(-3,2), (0, 1)

@

(-1,2),(—4,1),(3,-2),(0—-,1)

B Mohamed Taha 0566151988 < Grade 12 General >



27- Triangle PQR is represented by the matrix 4892400l Jios PQR Sl - 27
3 -11 3 -11
1 4 -2 1 4 -2

Find the image of the triangle after rotation of 270°ina G 270° L9l Ohalb Cdiall 8900 gl

counterclockwise about the origin Jool dlas Jgo dslud! lia) (uSlas oloxil

@ (_37 1)r (11 4)1 (_17 _2)
® @3).4-1,(-21)

© (13).(-4-1,21

@ 1L-3)@D,(-21)

28- Triangle PQR is represented by the matrix ddgasanly Jios PQR CL)l - 28
3 1 1 3 -1 1
1 4 -2 1 4 -2

Find the image of the triangle after rotation of 90°in a 3 90° Ll Ohgwb Cbindl 5ygu0 dexgl

counterclockwise about the origin JeY At Jg> deludl Qylda) (uSlae oloxl

@ (1,3),4,-1),(-2,1)
® G- (-1-4,12)

© (13)(-4-1,21

@ 1L-3)@D,(-21)

15 Mohamed Taha 0566151988 Grade 12 General
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29- Triangle LMN has vertices L(-6 ,4), M(-3 ,2) and 9L(—6 ,4) yw95)' 4 LMN kil - 29

N(-1,-2) Ciodl 8940 Uol N(=1,-2) sM (-3 ,2)
Find the image of the triangle after rotation of 80°ina )lia) uSlao oloxl c.? 180° 293‘.3-:‘ Ol
counterclockwise about the origin Jed! dads Jg> dsludl

@ L'(6,4),M'(3,2),N'(1,-2)

@ L'(-6,—4),M'(-3,-2),N'(—-1,2)

@ L'(6,-4),M'(3,-2),N'(1,2)

@ L'(4,-6),M'(2,-3),N'(-2,—-1)

B Mohamed Taha 0566151988 < Grade 12 General >
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/ dole Pilwo

1- What is the solution of the system shown aside ?
x+3y+2z=5
3x+y—2z=17

2x+2y+3z=3

(-1,2,1)
(1,2,-1)

(1,2,1)

® © ® ®

(1,-2,1)

2- Use the Gaussian elimination to solve the system

XxX—y+2z=2
2y—4z=28
—-x+4z= —-10

(6,1,2)

(6,2,-1)

(-1,2,6)

® © ©® ®

(2,1,6)

¢ W OYolaell pllas J> g2 o -1
x+3y+2z=5
3x+ty—2z=17
2x+2y+3z=3

plas Joub gl d8yb auseiwl -2

Yol
X—y+2z=2
2y—4z =28
—x+4z= —-10

B Mohamed Taha 0566151988
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3- Find a solution to the system of equations SYolaoll ew’»-\aﬁ -3
2x+3y—z=1 2x+3y—-z=1
x+y—2z=5 x+ty—2z=5
x+2y+z=8 x+2y+z=8

@ (3,2,-1)
® (-2,3,1)

© Jolodl e Glg Y sus
has infinite many solutions

@ J=> g

has no solution

4- Use the Gaussian elimination to solve the system pladl Joed (qwolddl Joddl puseinsl -4
8x — 8y — 8z = 24 8x —8y — 8z =24
—2x+4y—4z= —12 —2xt4y—4z= —12
x—3y+4z=4 x—3y+4z=14

(20,5,12)

(20,12,5)

@
® (12,20,5)
©
@

(12,5,20 )

B Mohamed Taha 0566151988 < Grade 12 General >
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5- Find a solution to the system of equations
x+2y+z=8
2x+3y—z=13
x+y—2z=15

@ (3,-2,1)

® @,-3,-1)
© Jel=dl e 3lg Y due

has infinite many solutions

J=> g pud

has no solution

6- Write the augmented matrix that
corresponds to the system

5x -2y =15
5x+ 3y =23
( 1 )
@ 5 -2,23
I
L 5 3.-18
r I )
@ 5 '2|18
5 -2, 23]
- )
© 5 -2,18
|
L 5 3 23)
r D)
@ 5 2 ;-18
[ 5 3.3

B Mohamed Taha 0566151988

CYslaadl plad U w9l -5
x+2y+z=8
2x+3y—z=13
x+y—2z=15

plas ao 391555 I daw goll A8 gisacll CIST - 6

SYalaall
5x -2y =15
5x+ 3y =23

- >
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7- Which of the following is in row echelon from

8 112

@ 1 3 '
0 1 1'4
(01 7! 3)
® 00115
00 1,8
\.00 0 1/
Caaas]aR
© 0 1 -7
0 0 !'0

. y
10 0,3

@ 0000
01 0,8

01 112

8- What is the dimensions of the matrix

@ 1x3
® 3x1
© 3x3
@ 1 X1

(@)

S Lo domyo ddgiuan Jiod o len T -7

dBgasacll odd sl Bl -8

20 > Mohamed Taha 0566151988
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9- Which of the following is not in row echelon

|
@ 1 -8 17
0o 1 ,3
r I
@ 1 -2 19
0o 0o ,1
.
|
(1 -4 110
© 0 1 ,-6
0O 0 11
\_ J
|
1 -8 112
@ 1 3 17
0 1 17

10- Write the system that corresponds to
the augmented matrix

® @ ©® ®

B Mohamed Taha 0566151988

4x — 3y = —23

4x + 2y — 18
4x + 3y = 23
4x + 2y =18
4x + 3y = 23
4x — 2y =18
4x — 3y =23
4x + 2y =18

S o domyd dgasan Ji3Y blw @l -9

43 ghsanll po 38195 S pladl CIST - 10
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11-Write the augmented matrix that corresponds pUaS Jio3 (I dawwgell d3giuanllbo - 11
to the system ddasdl Yol
4x—2y =6 N2y =6
—3x—2y= —4 —3x—-2y= -4
- IR
4 2 16
© L 3 214,
(4 316
91
® 2 2 -4
2 2 )
© -
. 3 4 )
- D
@ 4 2
L 3 2
12- Solve J> -12
10 1, -3
@ (2,7,5) 01 11 2
00 2 10
® (-8,7,5) '
© (-8,2,5)
@ (-3,2,5)

22 > Mohamed Taha 0566151988 < Grade 12 General >



Math 2022

13- Two matrices B & A are said to be OluSlaie gl A & B (idgiuae] JU - 13
inverse if o513

@ B=-4

® A= -B

© AB=BA=1

@ B+A=1

14- What is the value of x | Xdod 2L -14
® 3 010 g

@ 1 00 1.1 1

© 7

@ 2

23 > Mohamed Taha 0566151988 < Grade 12 General >
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15- Find the value of the determinant,if possible oSl O] Suseell dasd uzgl - 15

a7 @)

@ 3

® 6

© -3

@ s

16- What is the solution of this system pladilds J>l -16
® 73 ol

® (2,3,-1) 00 1.1 -1

© (10,4,0)

@ (8,3,0)

24 > Mohamed Taha 0566151988 < Grade 12 General >
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17- If 3 1 0

® © © ©®

18-

What is the value of |X]|
—15

15

—25

25

Which of the following matrix is in row

echelon from

® © © ®

25 ) Mohamed Taha 0566151988

[y
(92
1
=

=

3 1 0 QSI.S! -17
-2 -1 4
1 2 5

|X| 2\.0:.@ >

s zdged @ W Clsiuadll e o1 - 18
all
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19- If

®@ © © ®

20- Use Carmers Rule to solve the system of linear
equations
3x+2y =16
7x+y =19
(_2 ) 5)

(=2,-5)

(2,-5)

® © © ®

(2,5)

o813 -19
4 -1
A= 16 2 ,B= 4
9 8 -3 -7

B—A J>gi

Colaoll plas Jouod 10y BUeld puseiwl — 20
ddase|
3x+2y =16
7x+y =19

26 > Mohamed Taha 0566151988
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21- If o813 -21
A= 2X Y B=| 4 |aB= | 2 A=[2x 'y]B=[4 ],AB=[_2 ]
-3y -5x ) 31 -3y -5x -2 31

Find x,y X,y Gasd sl
1
@ x= —-,y=3
2
1
® x-= - =, y= -3
2
1
© x= —5¥= 3

22- What is the solution to the system of equations SYolaodl Aty Yol ga bo - 22

o O -
O RN
o ~ W
N O b

(4,6,2)

no solution
J>uxgy

infinitely many solution

Jdolddl e L Y due

® @ © ©®

(-6,2,2)

B Mohamed Taha 0566151988 ( Grade 12 General >
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23- If o813 -23

A1 us

® @ © ®

24- What is the solution to the system of equations SYolaodl dalasY Jodl ga o - 24

(4,6,2)

o O o
o O+ O
O OO
o O O O
o U1 wnN

no solution
J>d=>g Y

infinitely many solution

Jolddl e L Y due

® @ © ©®

(-6,2,2)

B Mohamed Taha 0566151988 < Grade 12 General >
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Tearm 2

25- Which of the following matrices is singular ? Bayhie 0955 AV wldsisaall 61 - 25
s
@ (47
-3 2
)
® [3 4 ]
6 8
- D
@ 1 -6
(4 10
- N
@ 9
(5 1)
26- Find A-B If: tOSI3A-B dz9l -26
4 9 2 -1 4 6 |4 9 2 11 4 6
A=  B=
A={ 12 -7 4 J and B=| 5 -3 g 12 -7 -4 5 -3 9
- N
@ -5 13 5
7 10 -13)
- N
® 3 514
174 5
@ -135 -4
17 4 5

5 5 -4
7 -10 -13

29 ) Mohamed Taha 0566151988 ( Grade 12 General >
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Tearm 2

R

27- Determine the identity matrix from the O gduacdl (po Blulxall dd giuanll > - 27
following matrices : dJul

i
0 1]
L1 0

® © © ®

28-1Fa=|1 0 -3 A= |1 0 31 451y -28
2 4 1 2 41

Find 2A 2A Jog

- 3
-2 0 6

(2 8 -2
e N

E
|

0 '6 '3 J

o w
o N
won
—

® @ & ®

2 0 -6
4 8 2

30 ) Mohamed Taha 0566151988 ( Grade 12 General >
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29- Which pair of the following matrices are inverse

@
®
©
@

30-

® © © ©®

31> Mohamed Taha 0566151988

- -
(2 4 ’ 2 -1
r 4

_9 _5] 1 5 ]
2 1 -2 °

e 3 r 3
1 4 7 4
\2 7) \2 1)

e N
s N
2 , 4 _2
4
4 J 4 2

What is the dimensions of the matrix

2X3

2X2

3X3

3X2

-2

U9Se 4dWl b gaumanll (e z9) sl -29
S ladie

*EPV-PEIN RV ala..aiubl.o -30

11
12
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31- Which matrix dose Not has inverse 099520 g} pud Wgiuan 1 -31
s 1 0
® (0 1 ]
~
@ 2 1
0 3
- D
© 31
4 'lJ
- D
@
q )
32- Evaluate the determinate of the matrix ddgauanll Sumo dzgl - 32-
2 -1
1 0
@ 2
® o
© 1
@ 3

32 > Mohamed Taha 0566151988 ( Grade 12 General >
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33-Which of the following matrix is singular

(O >
® .5 3 ]
-
® |2 4]

4 8

r3 50
©

4 'lJ

r4 -
@

(5 7

34-What is the determinate of this matrix

Bayaie 0985 Y Wl gumnll I -33

a9 giunoll 04 due g2 Lo - 34

-1 -5
@ -38 -7 6
-1 -4
® -39
© 68
@ -75
33 Mohamed Taha 0566151988 /
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35-Evaluate the determinate of the matrix

@ 20
® 10
© 40
@ 30

36-Find the solution if :

o= [57) e (]

@ (54.74)
® (81,-17)
© (60,21)
@ (-20,3)

34 > Mohamed Taha 0566151988

@Ml RV- N EY >l - 34

2 -10
9 -2
-1 8

s 0613 Joul A9l — 36

w=(s 7] o2

- ::>
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37-Find the solution if :

A-1 = [4 '1] B=[1 ]
5 0 3

(4,-1)

(19,-1)

(=5,0)

® @ ©® ®

(7r—5 )

38-Use inverse matrix to solve the system of

equation :
()
35 3
@ (-4,3)
® (-4,-3)
© (4,-3)
@ @“.3)

2 0513 Jodl d>gl =37

e-(ne) el

rdolanll pUaS Joo A9g9asm0ll wgSias pluseiw! —38

(2 2] e (1)

35) Mohamed Taha 0566151988
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39-Use Carmers Rule to solve the system of linear
equation
4x + 6y =3
8x+3y=1

®©@ @ & ®
| =

40-Use Carmers Rule to solve the system of
Al=11 ,|A,|=-11 ,|4,|=33

(-1,-3)
(3,-1)

(1,-3)

® © © ©®

(-1,3)

Uslaall pUaS Joud yol,S BAsld ausuinl — 39
sl

4x + 6y =3
8x+3y=1

dolaal! ‘aUéJ J:eJJ..oL,S Bucld ‘a..x:’;’}.u| - 40

|Al=11 ,|A=-11 ,|A,|=33

B Mohamed Taha 0566151988
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41-Use Carmers Rule to solve the system of
|A| = —-44 ,|A,| =176

|4,| = —88,14,| = —44

(—4,-2,1)
(4,2,1)

(—4,1,1)

®@ © © ©®

(—4,-2,-1)

42-Use Carmers Rule to solve the system of
|A| = -20 ,|A,| =60
|4, =16,14,] = —-12

Walaadl ol Joud g0lyS Busld puseiwl — 41
Al = —44 |4, = 176

|4,| = —88,14,| = —44

y|=

FIKYPIN]] ‘aUaA JZ’JAJSSJ«.G& P.J:':'Lw|— 42
Al = 20 ,|A,| =60
|4, =16,14,] = -12

B Mohamed Taha 0566151988
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43-How is tringle ABC being translated to tringle A'B’C’ s 4 ABC Cliall dli| iy &S — 43

A’B’C
Y
10r
Move 3 units up and 8 left B al

@

Jhw 8 9 LY Wilu>g 3 2y

C

Move 9 units down and 4 right

® . .. A : .
el &3 Jid) Sz 9 £y wEE B e
Move 9 units up and 4 right
el 4 9 LY Cilu>9 9 &y

Move 3 units down and 8 right

@ el 89 Jawd Clug 3 sy

©

44-What type of transformation in this shape SN § Jg=ill g9 Lo — 44

@ Dilation Do

® Reflection w&ai|

© Translation 4>1)

@ Rotation  Olyga

38 Mohamed Taha 0566151988 Grade 12 General




45-A rectangle has vertices
L(1,-1),M(1,1),N(5,1),0(5,-1)
Translated 2 units right and 4 units down
Find the coordinates of the image

-1 -1 3 3
® [ 1 0 -1 -1 ]
® [ 3 3 7 7 ]
5 -3 -3 -5
© e 3 3 1 3N
1 3 3 J
@ (1 3 3 )
-3 -3 3 J

46-A triangle has vertices
L(-4,1),M(3,0),N(-2,-1)
Translated 4 units left and 3 units down
Find the coordinates of the image

e 3N
@ -4 3 -2
1 0 -1 J
r N
® |° ]
4 3 2 J
e 3N
© -7 0 -5
0B 151398
r 3N
@ 8 -1 -6
C -2 -3 4 J

39 Mohamed Taha 0566151988

o9d) V Juriwws - 45
L(ll'l)rM(lr1)1N(511)lo(51'1)
Jiud clang £ g cpanll cpian g a3l

gl cldilaa) e dual

oodyd Cdie -46

L(-4,1),M(3,0),N(-2,-1)
Jiul @laag 3 5 lesd) ilan g 4 iy )
sugall clilaa) e diayl
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47-1dentify the transformation

®@ ©® © ®

Translation 5 units left and 1 unit up
AV ) Buslg Busg9 Hlud! Cilu-g 5 A1)
Reflection in y - axis

Y y9oe L,g w&aﬁ”

90° counter clockwise rotation

deludl Qylie slxl] (WS (§ 90%4913 Oly9a

Translation 5 units right and 1 unit down
Jieol J] Ba>lg 899 crrenld Clig 5 A

48-The image shows what type of transformation

® © © ®

E Mohamed Taha 0566151988

Translation 4>1)

£

Reflection in y — axis

Y 2970 e iyl

Rotation Olgyo

Reflection in x — axis

X 2970 e (Yl

S § Jgoedl g5 du> — 47

7 L
J{{ Isnaam
ENVLE WCEE

AW Byguall § gl g5 04> — 48

—
N
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49-ldentify the transformation from

@

©

@

ABCD to A’B’C’'D’

Translation 4>1)

Reflection in X — axis

X 2970 Jg= e

90° counter clockwise rotation

deludl Cyylde oloxi] (WS (§ 90%Dgl3s Olygo
Reflection in Y — axis

Y og7e Jg= ]

50-ldentify the transformation from

@

©

41

ABCD to A’B’C’'D’

Translation 4>1)|

Reflection in X — axis

X 1970 Jg=> (]

90° counter clockwise rotation

deludl oyl oloxd] (S (§ 90%4ugls Oligd
Reflection in Y — axis

Y 9970 9= ]

Mohamed Taha 0566151988

4wl 8y guall 3 dfg::.’o’.ll &3; > — 49

....... ) ¢TI T O A o S
....... 7 ) I I D
:::::::C’LHB'::
<+ B’X
....... C< ) -
"""" [T TAT]
EEEEEE Y CoEEEE
AW 8yguall & oyl 5 3> — 50
....... Y
....... ALl 1T l[1]]
D,....A:A ..... D
Cl [ [1[] RAB [ [ [ || C
< » X
....... .
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51- Reflect Point C over they Y — axis :

(=3,2)
(3,2)

(=2,3)

® © & ®

(3,0)

52- Find K’ if the figure is reflected
acros the x —axis :

(-1,-4)
(1,-4)

(1,4)

® @ ©® ®

(4,1)

42 > Mohamed Taha 0566151988

0@ )97xa)l (§g8 dlads Wail — 51

Jg= iYL K dladidl Oldlus] d>gl - 52

Xog>e

1

A

-Y

/
re

e \

Y

—
N

Grade 12 General >




Math 2022

53- Which answer shows a reflecrion X y97all e LoiSadl ﬁ Ll ‘gi - 53
across the X - axis

43 > Mohamed Taha 0566151988 ( Grade 12 General >
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54- A QRS contains the points :
Q(4,2),R(5,1),5(3,7).
If the triangle is reflected across the X — axis ,
What will S’ be ?

S'(-3,-7)
S'(-3,7)

S'(3,-7)

®@ © & ©

$'(7,3)

55-A QRS contains the points :
Q(4,2),R(5,1),S(3,7).

If the triangle is reflected across the Y — axis ,
What will §’ be ?

@ s'(3,7)
S'(=3,7)

®
© s'(-3,-7)
@

s'(7,3)

1Ll e Ggim QRS A — 54
Q(4,2),R(5,1),5(3,7).

¢ X ygeadl Jgo Cdiall wSadl 13
¢S’ dhddl Wil (p L

:bladl s $gi QRSA - 55
Q(4,2),R(5,1),5(3,7).

¢ Y y9oeadl Jgo Clliadl Sl 13
¢S’ dnddl Wldlia] (2 13k

E Mohamed Taha 0566151988
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56- Triangle ABC has vertices o099y 4 ABC Cdinll  -56
A(-6,2),B(-4,6),andC(-2,4) A(-6,2),B(-4,6),andC(-2,4)
Reflected over the X- axis . Find the (P Bygaall OS] OB L guadl Hammall e Sy

coordinate of the image :

4 N
6 -4 -2

\2 6 4)

- 3
6 4 2

®@ © e ®

57- Describe the transformation Jo=idl L — 57

@ Translation 4>1) Y
90° counter clockwise rotation

deludl Qylds olxdl S (§ Olygs dyo 90
counter clockwise rotation
deludl Qylis olxil (S (§ Ol9o dyd 90

®

- N W

180° counter clockwise rotation >
© deludl Qs olxll (S (§ Olygo 42ny> 180 4
Reflection in Y — axis
Y ogoe Jg> Yl v

H R -

45 Mohamed Taha 0566151988 Grade 12 General
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Tearm 2

58-Triangle A is rotated 90° clockwise wih the origin olxdl (§ )5 90 diglis A Clliadl y9ul iy — 58
as the center of rotation to creat a new figure . Obgull 3550 98 Jaol 095 Cuoms delull las

dode)! adgall yelay Edin S Ldude K& LESY
which triangle shows the new location " B9l ek $1 pur Sl :

B 1 B !
7/ A \ | > 111
© ¢ = S-samamana
< =+ T >
@ D INEEN /"..;,. \
' TN\ C
= D BEIEEE, [ 1
o
EEEED
i | | -
59-Describe the transformation shown in the graph Q! eyl § o gall Jgidl o — 57

@ Translation 4o

Reflection in Y — axis
@ Y o9 ds= oSy

90° counter clockwise rotation &
deludl s ol (uSe § 90%gl52 Olig

=Y

270° counter clockwise rotation
deludl Oylie olxd] (wSe § 270 dgli Olygd
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60-What type of transformation is this JSNAL § Jg=ill g9 Lo — 60

Dilation el Sl

Reflection S|

Translation 4=

<

Rotation Obh9d

® © © ®
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